There is only one plane that passes through a point and is perpendicular to a

straight line.
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(Suppose there are two planes 1 and 2 passing through a point I’ and perpendicular to a straight line .

If the two planar planes V1 and 2 are different; there exists a point 1’1 that belongs to plane @1 but not to 2.
X — € B
The straight line /1 passing through the point 1 and parallel to the line  is also pexpendi%‘nm,go the plane 2,
e
so the foot 1’2 of the normal line exists. Since angle P12 and angle PP2P1 are pel])endxc\ﬂeﬁ',".,'( 3![)],,
e
three different points I, P’ 2/ create Triangles cannot exist. Therefore, the two planes @1 and @2 al"é‘eqp'al.)
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Github:
https://min7014.github.io/math20230312001.html

Click or paste URL into the URL search bar,
and you can see a picture moving,.
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